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(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Black ink to write and underline and pencil to draw diagrams.

UGS -1 -6 2 der Siameaisg (Lidheums elenrd s er) 60l T &5 &5 (615 &5 55 b
(1 ¢psed 75 cuenry) safiGu auiprisiiLi Herer OMR sllenLgszmafled i RGio

cdilenLwieflses Geuaim@ib. (OMR e _szrefler o arer <Ml eniren s
&ITEHTS )

eflanrggrer cuwg UsS apaaude STUUL(Bérer GMuSL nenar OMR
dllemLgsrafldd &miy ewufermd Bipell i Couamr(in.
LGS I LMD LEGE II-d o drer el e (eméE; (

76 (pged 110 cuenyy)
e el gsrefled eflen_welgs Geuetsr(Rib.

Candidates should answer all the questions in PART - |
in the separate OMR Answer Sheet su
OMR Answer Sheet).
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UGS - I/PART -1
Qsr@sstiul L mprerg oleorsald Waaw ghyamw denLemws
CsiibOshés GIULOLE elamwWamanyb Csrgg g6 75x1=75

Choose the most suitable answer from the given four alternatives and write the option
code and the corresponding answer.

GOLTT @ooi9eh @bLiFav-e» Media Player senaned genyeniid Hpée 2 ga|b
HLL_GHT : -

(A) Tools — Media Player (B) Insert - Media Player

(C) Edit — Media Player (D) File — Media Player

In StarOffice Impress, the command used to open a Media Player window :
(A) Tools — Media Player (B) Insert — Media Player

(C) Edit » Media Player (D) File —» Media Player

GOLTH <peifen Guev-a, SilLamarie gaidelrd Qp@Heuflesuyd
@éuaunn 2iampssiLGEANSI.

(A) Yeid (B) udley (C) aflens (D) Gamuy
In StarOffice Base, each table column is called : '
(A) Field (B) Record (C) Row (D) File

Bre|semarw, Qawpsamsemenid @ Curmer QUENTILIGHM S (GET GRETMDTE LI
Denensgl meusED QEWOEILLILD

(A) 2 epQUIHLTESLD (B) @ummer

(C) ULORIHAUTEED (D) <Si(HeuLDTESLD

The mechanism by which the data and functions are bound together within an object
definition is :

(A) Encapsulation
(©) Polymorphism

(B) Object
(D) Abstraction

GoL i 2peaiQen GLigv-éb ergl eflameuadlam G USWITED ?

(A) aflsms (B) Ulg.euld € Gsmay (D) euig&Llg
In StarOffice Base which one of the following is a type of query ?
(A) report (B) form (C) file (D) filter
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VLT ool Tl fled, LiGsssH e ' o .
LP&mss CaTH Tms s fﬁm oo Gareampid G UL wren

(A) Gsr@® (pyeme (B) usd pyma

© uasas.ggﬂsm.@q_smm. (D) <peuamdden @miSlenw

In Stafoiiflci \anter what is the thick horizontal line marker in the page area ?
(é) End'of'lme (B) End-of-paragraph

(C) End-of-page (D) End-of-document

QuickTime I_ILq_GquGbT aQflay

(A) .ram (B) .mov (C) .swi (D) .qtf
The extension of QuickTime format :
(A) .ram (B) .mov (C) .swf (D) .qtf

Lotus 1-2-3 (Carl_Lev 1-2-3) ereim jLaumend Qewed Qeuefludi b

< | |
(A) 1972 (B) 1952 - (© 1982 (D). 1962
Lotus 1-2-3 spreadsheet was introduced 1n the yea-r':

(A) 1972 (B) 1952 (C) 1982 (D) 1962

L o miLsener c"qﬁ;g G e (B(LeSGETE@HLD,

C++ - eraman@auen iplafldsIu
Wé FmedssuULL @) e G (e SGETE@HLD

3bS Qe pedlar g LILIenL

GTHSSTT (PlgLd :

(A) private (B) protected (C) static (D) inline

In C++, the members that have been declared as what can be accessed from within the
class, and the members of the inherited classes ?

(A) private (B) protected (C) static (D) inline

C++ -@, sLHUUTLBS &L_L@ener oyanwliysafiar p&slw (3) e 1 & o €01

craTaEems eTHSeman ? |

(A) b3 (B) BTE C) Qreh (D) apany

How many major categories of control structures in C++ 7

(A) five (B) four (C) two (D) three .
[ Hpris/ Tum over
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4

LT a;bo"olﬂ]eib Gueiv-ev ﬁluﬁgmmcun@\ umehu@gg;uu@}fo aUIg HLIg DU
Qeueurm enp&EsMD ?

(A) Condition filter (B) Standard filter
(C) Report filter (D) Auto filter
In StarOffice Base, filter used with a condition is called :
(A) Condition filter (B) Standard filter
(C) Report filter (D) Auto filter

CH+ - gauprar QFwHsam (PTGl EN6ISE STaT :

(A) int max(int, int); (B) void fun(char);
(C) int max(int, int, int); (D) int max(int; int);
In C++, find the invalid function prototype :

(A) int max(int, int); (B) void fun(char);
(C) int max(int, int, int); (D) int max(int; int);

SLpeU(HeUaTEUDMIET TS| g,lym& Qewersssdleanr Larfl&sam S ?

(A) QFOILIQUITEGSD - (B) sreysener GCasllgse
(C) euemeWenLpLIL] (D) &flurigged

Which one of the following is not a step in data processing ?

(A) Validation (B) Data collection

(C) Network (D) Verification

GOLITT poaleiv enpiLfled, =it cuemanuiled QB@Heuflanguiien is0&mS LOMHD
THS @urrg)g,rrsmscr SI(pSH& Qsmeart() QLg| AVDF QUOF! DL QurggTena
9A(D5S Gouar(Hd ?

(A) Shift (B) Alt (C) Tab (D) Chl

In StarOffice Writer, which key is held down to resize the column of the table and then
press the left or the right arrow ?

(A) Shift (B) Alt (C) Tab (D) Cul

TG Q,og,e&r@pgssﬂd) sam® g &siul L ler oL eumens Glewedl ?

(A) VisiCalc (B) Lotus 1-2-3 (C) Excel (D) StarOffice Calc
Which was the first electronic spreadsheet ?
() VisiCalc (B) Lotus 1-2-3 (C) Excel (D) StarOffice Calc
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16.

17.

18.

5

Blepsgdier ahs agad (View) Aogiame e @marssajb ugulssa)b
2 5aiflng :

(A) Notes (B) Normal (C) Handouts (D) Outline
Which of the following view allows to create and edit slides in presentation ?
(A) Notes (B) Normal (C) Handouts (D) Outline

Qb5 Bird AsrEHula X -& @mssru@ib WAL eraa ?
int x=3, y=2;
X=(——X) + (y++);
(A) 3 (B) 4 © 2 (D) 5

What is the value stored in the variable “x” in the snippet ?

int x=3, y=2;
X=() + (y+);
(A) 3 (B) 4 < 2 (D) 5

oL oellen vy iflé e.ay SpeuamTESlen QT UsshGNGID UGS
TG LGSS LWeTURILD SLLaner

(A) Format — Fields — Page Number

(B) Insert — Fields — Page Number

(C) File — Page Number
(D) Edit — Page Number

In a StarOffice Writer document, the command to insert page numbers in every page :

(A) Format — Fields — Page Number
(B) Insert — Fields — Page Number

(C) File — Page Number
(D) Edit — Page Number

Ctt -6 mufer qpaeul eTHS GTGRTEm) LT Gg,m_rﬁws Gouam(Hid ?

(A) NULL (B) 128 © -128 (@O 1
In C++, the pointer address starts from which number ?
(A) NULL (B) 128 © —128 @) 1

[ HmLis/ Turn over
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20.

21.

22,
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UL peslQev enrlLfled, G&FmELh LeTefé@ cueg LEHSSHD 2-aTer
T(WSGISHEMET &G CurSsTen :

(A) Delete (B) Backspace (C) End
In StarOffice Writer, the key that deletes the characters to the right of the insertion
point :

(A) Delete (B) Backspace (©) End

(D) Home

(D) Home

CH+ -@ aps Qewpsmerpl LWETLHSS srédaerer aT (&S| S & 6
crameniidepasemil Qup wpigd ?

(A) stlength()  (B) strepy() (©) stremp() (D) stlen()
In C++, which function is used to find the number of characters stored in the string ?
(A) strlength()  (B) strepy() (©)  stremp() (D) strlen()

Sl Laimarsgraid ApRafllamsdear sisosms wrpp Csiey Gleww
Couaimqut &L _Lener erg) ?

(A) Tools — Column — Width (B) Edit — Column — Width
(C) File —» Column — Width (D) Format — Column — Width
Ina Worksh_eet, which command is used to change the column width ?
(A) Tools — Column — Width (B) Edit — Column — Width
(C) File —» Column — Width (D) Format — Column — Width

&G Qar@ssiul Herer Hliye @g,W@g]uﬂém Geuaflui@® :
int sum=0, ctr;
for(ctr=1; ctr<5; ctr++)
sum=sum + cir;
cout << sum;
(A) 16 (B) .11 C 5 (D) 10
Find the output of the following snippet :
int sum=0, ctr;
for(ctr =1; ctr<5; ctr++)
sum=sum + ctr;
cout << suny,

(A) 16 (®) 11 (C 5 D) 10
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24.

25.

7

LT Speoldld)  BTOE o gray S Laimanssraled Gassmriiug,
QMUUUTOST eTHS GOluLen Qsm_us Cousn@ib ?

(A) = (swan) B) A (Han)

(©) = (uroy) D) * (Qumssa)

In a StarOffice Calc worksheet, the syntax of the formula begins with which sign ?
(A) = (Equal) (B) " (Exponentiation)

(C) :(Range) (D) * (Multiplication)

Bes@W Ths G whm Qundps 2

(a) ++ (WEuy) (B) & (qpseufl &)
©  (ieoriyeraf) (D) 2 (pwé)

The body of the class is terminated by :

(A) ++ (Increment) (B) & (Address of)

(C) ; (Semicolon) (D) ?: (Ternary)

GOLTIT ShoelSev CLev-6d o drer Leveuanassaflar eramentldans THHMmE ?

(A 20 (Qmug) (B) 18 (udl@an ()
© 24 (Qousd pran) (D) 13 (uflénepam).
How many field types are there in StarOffice Base ?

(A) 20 (Twenty) (B) 18 (Eighteen)
(C) 24 (Twenty Four) (D) 13 (Thirteen)

26.

27.

Ctt -a erg Hpliyg QFred e ?

(A) virtual (B) classes (C) delete (D) continue
Which of the following is not a keyword in C++ ?
(A) virtual (B) . classes (C) delete (D) continue

MMS -6 efliflaurésio:
(A) Multimedia Messaging System  (B) Multimedia Message Service

(C) Multi Message System (D) Multi Messaging Service
MMS is expanded as : _ ‘

(A) Multimedia Messaging System  (B) Multimedia Message Service
(C) Multi Message System (D) Multi Messaging Service

[ $mLiLs/ Turn over
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29.

30.

31.

32.

8

Ctt - panr-Glawed CplynSsD THSSE GHuer Qam_raGo ?

(A) # (B) $ (C) ! Oy {
In C++, a preprocessor directive starts with which operator ?
(A) # (B) $ € | (D) {}

GULIT Soollley enplfled, LL&s Qewwiiu@n geudeur Qero@iLd
SsrrSuder 2 erer QemmaCarm(® Caumu@derm Qerheer eTHs HD Qpafl &
Osrarh 2iig&CamgL L@ ?

(A) Heuliy (B) Lo@paer ©) feoid (D) &m®mUY

In StarOffice Writer, while typing the words that do not match in the dictionary are
underlined with a squiggly what color line ?

(A) Red (B) Yellow (C) Blue (D) Black

MIDI vigaid serHilligssiul L. ek gl ?

(A) 1984 (B) 1972 (C) 1992 (D) 1982
Which year the MIDI format was developed ?
(A) 1984 (B) 1972 (C) 1992 (D) 1982

CH++ - @eupmieT ergl @(p Seuprer Siewil SyBletlli &HYrEG ?

(A) const int i=10; (B) int array[50];
double val[i];
(C) int a[5-5]; (D) intdays[]=1{L, 2, 3,4,5 6,7}
In C++, which one of the following is an invalid array declaration ?
(A) const int i=10; (B) int array[50];
double val[i];

(C) int a[5-5]; (D) intdays[]={1, 2 3,4,5,6, 7}

GOLITIT Booldla) HMEVE-ED, arps Friy, Ger@&suul L araseian MO
Qg ransamLL sasdl ) QsrO&Eng ?

(A) ABS (B) ADD (©) SQRT (D) SUM

In StarOffice Calc, which function is used to calculate the sum of a given set of

numbers ?
(A) ABS (B) ADD (C) SQRT (D) SUM



9

33. :u;;; lj;)b“ ﬁﬁ@%g;vdé-@ Havgy ereueuaray Crrib Hids CaudmBLD cremIms
, LD%)_ILb Qa;“_ . (g . . . . . L
QaeEmg ? Oip Cprifibenan Sog prien (oipe

(A) Format (B) Manual (C) Automatic (D) Default

In StarOffice Impress, which allows to speci . ) _
; . cifv the duration for each slid
automatically flip through the slides at theI: splg:’iﬁed speed ? shdeandwl

(A) Format (B) Manual (C) . Automatic (D) Default

34, Ct++ - erpg WM, 2ig Sfleddsin L OsTEHES QeueNue(mHg iemis
PLS ?
(A) Gamruy (B) o dremenio C) Q&&EGW (D) Qswpsam
In C++, which variable cannot be accessed from outside the block of its declaration ?

(A) file (B) local (C) class (D) function

35. ol Lamassraied afmsserd ApGeuflamssEso GnsHAGL Gurg,
© (HEUMEGEIG!

(A) =@ (B) ey

(C) HicmeamTeDnaEer (D) Gasmiy

In a worksheet, the intersection of rows and columns creates :
(A) character (B) text

(C) cells (D) file

36, GoLrir peel9av Guav-@ @O Llelan L@ mISEmET H Qe QauaflsGarm(h

s SHevrerws Gear SIDPSHMLD ?
(A) udle @) Gsmiy (C) euigsL g (D) wUigeuld

In StarOffice Base, a screen that displays the fields of a record in a well-spaced out.

manner is called :

(A) record B) file (C) filter (D) form

[ Hwriys/ Turn oyer
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41.
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oLrr gGay arlLfld, Qepmedr aps wssums S@BETT
T(WPSGISHeneT QETETQ(HEGD ?

(A) Arial (B) Fajita

(C) Times New Roman (D)  Symbol

In StarOffice Writer, which one of the following is decorative font ?
(A) Arial (B) Fajita

(C) Times New Roman (D) Symbol

GULMT Bpooldle @DLITEV- (Peiiallgeuamdgs Liigeumisamers (Template)
Qaram® Hlspssme e (Haurssl LwaLGL Qurssreanser :

(A) Ctrl+ Alt+N (B) Shift + Alt+ N

(C) Shift + Tab + N (D) Shift + Ctrl + N

In StarOffice Impress, which keys is used to create a new presentation using template ?
(A) Ctl+ Alt+N (B) Shift+ Alt+ N

(C) Shift+Tab+ N (D) Shift + Ctrl + N

Hl&LpS560led, Styles and Formatting Fetaned Slanenis Hnés 2 seaybd smel

(A) F7 (B) F2 (C©) F11 (D) F5

The key used to open the styles and formatting window in presentation :

(A) F7 (B) F2 © F1n1 (D) F5

C++ - aThHSS smdm Srorafliiyg spmsaier Wsayb eraflemwwirang ?
(A) while (B) for (C) switch (D) if
In C++, which statement is the simplest of all the decision statements ?

(A) while (B) for (C) switch (D) if

Qewpu@SsLIULL Srejsaien CgrELliemu @eaieurn PSS :
(A) yeod (B) mplaar C) ssu (D) wrBled

The set of processed data is called :
(A) field (B) variables (C) information (D) constant
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GoLmiT c:%:oﬁ]@iu anriifley, SLELE Bard is@EmseiL B HLOME QMBHTD,
@bs LsE SA@oa) Géieury BDWEsLILHHADG :

(C) el (D) GumilenyL

In StarOffice Writer, if the length of a document is more than its width it is called :
(8) Landscape (B) Format

(C) Ruler (D) Portrait

C++ -a write( ) QEUJD&%)_Q]&S@‘&; Coeneuuren eTL(HESETET GTaTanlSms :

a) Grarh ®) @bs ©) BIEG (D) ewermy
In C++, the number of parameters required for write( ) function is :
(A) two (B) five (C) four (D) three

oL Spooldlad el féd erpésifey SmssoCLIg Ly Csrdame
5eiliTéEs A(PES Caudmgw Qurggren :

(A) Ignore All (B) Change

(C) Ignore Once (D) Change All

In StarOffice Writer, the button used to skip the spelling change for the current word :
(A) Ignore All (B) Change

(C) Ignore Once (D) Change All

THESMET UMTEMEIGEHEEGS GODEUTS 2 6ol @afl&sTLS&6m @) meTenL bhs)
SrewriL(BWw ?

(A) 256 (B) 16 S 128 (D) 64
Reducing colour depth less than how many colors results in the image looks murky ?
(A) 256 (B) 16 (C) 128 (D) 64

LO@I_s5Se gadludles ’galrgmﬁ auepyUmIGHeTn List saflan eranamsams |

(A) bl (B) epamm © Qreawn( (D) BN
How many attributes control the characteristics of sound ?
(A) five (B) three (C) two (D) four

[ Sipiis/ Turn over
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&G Qsr@ésiiu Herer C++ Blrd QsT@Hauls Ligsg) 47 psd 49 eueuerar
allamssenéeE udwalldsa)b.
Read the following C++ snippet and answer questions from 47 to 49.
class product
{
int code, quantity;
float price;
public:
void assign_data( );
void display( );
Iy
void main( )

{
product pl, p2;

}

résamar 2 MULEF Qeupsamser @bs Biréd AsrEHudea o erarear ?

(A) 4 B) 3 C 5 (D) 2
How many member functions are there in the snippet ?

(A) 4 (B) 3 C 5 D) 2
Qbs Hirer Cgr@Huder 2 drar Qars@pellen QUW eremar ?

(A) product (B) code ) pl (D) assign_data
What is the name of the class in the given snippet ?

(A) product (B) code © p1 (D) assign_data
‘p2’ eremm QUITHEHES Havaraussdld aismen @ULHGT @HIESLLGHD ?
A 8 (B) 16 (C) 4 (D) 10
How many bytes are allotted in the memory for the object ‘p2’ ?

(A) 8 (B) 16 (€ 4 (D) 10

@asEul Qurmelar e pliysaild Asriés wuy QBSHID Cewhamm

ergl ?

(A) &8 (B) wryfwd (C) QesEp (D) <f09
Which function initializes the class object ?
(A) constructor (B) inheritance (C) class (D) destructor
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53.
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CuEfanaT o|LugGul 2_60Taulg 6ll6y Hlg HLOTE LOTHDHILD AplILF ETHEID TS ?

(A) lg S Lo «GUINGT B) @deUmES

() <iEsuEuT (D) QgreraGusl
Which is the special device that converts the speech into a letter ?
(A) Dictaphone (B) Speaker

(C) Printer (D) Telephone

Gy QaEGWSsmaTg g,@@ﬁ]uug,;ba;m I HCL LWETUHL GQaEGW

(A) o MUILE Qswpamm) (B) &

C) s@mEHVD QandE D) e doq
Classes used only for deriving other classes are called :
(A) member function (B) constructor
(C) abstract class > (D) destructor

soeue) QamilonusHer (IT) Lwasar sTsmyamT wefgismanb Qseamenw
Cauar@Owvaild Goppsulsb dssmar AsMAGHLLE SaDsd BO5GS
Caemeu ?

A) Qe (B) pren® ©) @b (D) epemm

To reach out the benefits of IT to the common man we need at least how many technical
elements ?

(A) two (B) four (C) five (D) three

Lallifl @&sE Qe psater TS QFWLIMHLSEET leTL|mésatien L iguedle
@ LGHWE C Bl QU &mES Carararrg) ?
(A) oy (B) Quuiwmren

Q) wenaflwer (D) &L(
Which arguments of overloaded functions are not considered by the C++ compiler as
part of the parameter list ?

(A) reference (B) actual
(C) default (D) pointer
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CH+ - Qe FTmIGaeT Qanaréslt LD Caupsan el ?
(A) strlen() (B) strepy() (C) strecat( ) (D) stremp( )
In C++, which function is used to concatenate strings ?

(A) strlen() (B) strepy() (C) strcat( ) (D) stremp( )

sefLQus BarQanhé SWsbd a@FLDGSeTar sain@urd penCanbl&sTe
FL_Lenemudler crameantl&ens
(A) euug (B) ®5Hs! Q) ussl D) Yous

How many commandments of Computer Ethics were written by Computer Ethics
Institute ? |

(A) Thirty (B) Five (C) Ten (D) Twenty

org Qewpaan UeibiGrL] LHDID Qewp@n LefflEriy <pSweindlen ELPEOLD
HeppCaupprivGépg! ?

(A)  S|(HEULDTESLD (B) LIO(HEUTESLD
(C) e epGurHurssd (D)  wryflobd
W]uch is achieved through function overloading and operator overlaadmg ?

(A) Abstraction (B) Polymorphism
(C) Encapsulation (D) Inheritance

o QUTHETCETES BlFrss Qumflufen s&feinips LamLE gy :
(A) LO@IHEUTESLD (B) wryfbd

(C)  <Si(HEILLTEELD | (D) e ep@urdunésib

The most powerful feature of an object oriented programming language :
(A) Polymorphism (B) Inheritance

(C) Abstraction (D) Encapsulation
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wryfwgder wpemefweume grenryflencls LM, :

(A) private (B)  public (C) general (D) protected
The default visibility mode in inheritance -

(A) private (B) public (C) general (D) protected

safluCurfd velwreriser safil@Qurleows Sh@ oTaramsg L en
FULUILDLUTSL uu.xevru@g,g‘,\memg, e Celw Qgm_midweur wri ?

(A) M& wrevdliiy (B) Lreumi&sT
©) gmar Gpu@wir (D) mri@uI. Qeuiie

Who began to examine unethical and illegal uses of computer by computer
professionals ?

(A) Rick Mascitti (B) Donn Parker
(C) John Napier (D) Norbert Wiener

argl Gsreny, euwmly, HamCus, aufwurst Gp wssCamm@H eraflgrs o
2 Fayd ?

(A) o auiFdls QETenTEaeaTSeT (B) Hlevareyd gL &id

C) uUsss el (D) &reys SrULISLD

Which is easy interaction with other people through touch ‘scfeen, scanner and
microphone facilities ?

(A) Emotion containers (B) Memo frame

(C) Book shelf (D) Archive Unit

ITES - eSfleur&aLb.

(A) IT Empower Systems (B) IT Empower Services
(C) IT Enabled Services (D) IT Enabled Systems
ITES is expanded as :

(A) IT Empower Systems (B) IT Empower Services
(C) IT Enabled Services (D) IT Enabled Systems

[ Spuys/ Turn over
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C++ - add (int s1, int s2) eranD &S 6THG euapsLITET 2y ddl ?

(A) srarenoae (B) Bse

Q) sBHsHLD (D) wierym i@
add (int s1, int s2) is what type of constructor in C++ ?

(A) Default (B) Copy

(C) Abstract (D) Parameterized

CH+ -6 erhgé Hpiiné Qswpenm) QEwgImLILEamar gOHsTg ?

(A) Gewpsmm veafllgliy (B) <9
©) Qewupem LiewtlLdl &Ly D) <&

In C++, which special function cannot have arguments ?
(A) Function Overloading (B) Destructor
(C) Operator Overloading (D) Constructor

SIPLGGer QuigTens) erhs er@em [{é GO 6T Saiqu1 @emdEpellen
CLwerGu Qg maEb ? _

(a) ~ (B) : © # D)
The destructor has the same name as that of the class prefixed by which character ?
(4) ~ (B) : © # D) ;

GULITT Yoolfad eorlife, CoibOsHEsILL L usdeow Crrsd Qemsay
Qe LweTU@L Vs ILIens GN&E eulf

(A) Ctl+L (B) Ctl+E (C) Ctl+] (D) Ctl+R
In StarOffice Writer, the keyboard shortcuts used to justify align the selected paragraph :
(A) Cul+L (B) Cul+E (C) Cul+] (D) Cul+R

Ctt-a geulblenrm Qur@mar o (eurdsLiu @b Curgid ergne 50 & 5 el
Blearels @b @FIssiLGHedaema ?

(A) srey 2 mii (B)  Qumpenser

C) uedrys Famiser D) 2 muing Gewnemmsdr

In C++, when objects are created, for which no separate space is allotted ?
(A) Data Member (B) Objects

(C) Attributes (D) Member Functions
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DL L aumanTd QEwed) erepm .
@ Gr‘[bg) oueng; - J s . . s
gresseasdnG TOSHISETLH ?
(A) eumew :
e (B)  @hensGamiy

© Ugfene
A spreadsheet is an example for which database ?
(A) Network .

(C) Relational

© 2poyfleow

(B) Flat-file
(D) Hierarchical

Ct++ -& oTp 0oL
gu'LIUI'_(BZT‘Ibe fgcgﬂ;ﬂmé% 8&1'@@]: @@ Bubgsmanuier oigliuemLuld
Qedgd : O bpreseild REMEGS SLOUUT vl THSG &
(A) void (B) for (C) switch D) if

In C++, which is a multiple branchin
. statement where, b i
is transferred to one of the many pofsible points ? ere, based on condition, the control

(A) void (B) for (C) switch (D) if

AL Lemend Geudlowl nuau@sd e paursdu @m sres Csriy
Qeueurm eowsELLGEDG ?

(A) - meTenTenm (pSHaull (B) Il cuamenrgsmer
€ DBlspssse (D) GQerhHQswed o
A data file created with spreadsheet is called :

(A) Cell Address (B) Worksheet

(C) Presentation (D) Word processor

srassar GLoararaL gewiiear dewpur@seaies GurgliAfeysafer

CTEHTETISEnG GreUeUeTe | ?

(A) BrenE (B) Qrad ©) bl (D) epemmi
The data management tasks in a DBMS has how many number of general categories ?
(A) four (B) two (C) five (D) three
[ SipLiys/Turn over
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C+t+ -o0 @flpenpuien LRLWETESESEDG 2 ajug Tl ?
(A) srey wespliy (B) &L " (©) wr (D) QewpsmDl
In C++, which induces the regsability of the code ?

(A) data hiding  (B) pointer (C) variable (D) function

Qsr_se st Hreorss Qurdsald o edefi @ Qaeflui O Breys oIS
Qleuaurm evsWTeTULIL L &

(A) 8oy @emhiger (B) wmriledlser

(©) sLUUTL(& Fmpmser (D) wmdlger

In early programming languages the input’and output data items were represented
as :

(A) Data types. | . (B). Constants

(C) Control Statements (D) . Variables

CH++ eremm QUWETE GL Wl wirf ?

(A) Lmen GellGafler . (B) Oremeflev Mg

(C) M& wrevdliilg (D) Gggiren evl_Glyemevi_ Ll
Who coined the name C++ ? ‘

(A) Dan Bricklin (B) Dennis Ritchie

(C) Rick Mascitti (D) Bjarné StrouStrup

C++ -6 float power (float, int); erayb Qewpanm emeulgey &mLSwiey b
@b erg) ?

(A) char
In C++, the function prototjfpe float power (float, int); what is the return type ?

(B) float (C) double (D) int

(A) char (B) float (C) double (D) int
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U@&S - 11/ PART - II

616m 6u G g Lb Bmusg Qﬁlcﬁrrré,a;@é;@ wl@b el euf&efle0

eflenLwefl&sayLb.
Answer any twenty questions in one or two sentences each.

GVLITT BhoslAan enri_ e 2 MM GTeUaUTD) BEHTSSGIeUMLI ?
How to move text in StarOffice Writer ?

20x2=40

LT Boollev enplLfed eufens wpmd OpHeflersemw ereiaimm

BéE@Geumls ?

How will you delete rows and columns in StarOffice Writer ?

S euanant Gswaduler gCagyibd BreaiE uiuje'murf.@asébm TSI

Write any four applications of spreadsheet.

GOLITIT ool smeddled o crer @mm@m weafl euaasser undl @mllLy

UGS '
Write note on types of cell addressing in StarOffice Calc.

STEUSSETLD GTEIMITG) GTeie ?
What is database ?

LhLe cUflenFITESLD GTEmMmTE) Gramen ?
What is multiple sorting ? '

epLinflonan egaill UL BISHT 2 (HEUEED aparn Heanaser wrene ?

What are the 3-steps to create a 3-D animation ?

o (HLIHOHD CFISEH LHMID L (HEGHMDSSED CTaTDITed GTemen ?
What is morphing and warping ?

T0sHs aufselis Hapsssme AT kisomb ?

What are the ways to start presentation ?

[ Smliys/Turn over



85.

86.

87.

88.

89.

90.

91.

20

Aapssisadld Sogienel waPLLSDETar aiflenwl erpSIs.

Write the procedure to hide slide in presentation.

QuIm(meT GTemmmed Greme ?
What is meant by object ?

QaTLiymISSLD erenpmed eramar ?
What is meant by association ?

Hlubg e e

QrwupGH - GO euers.

Write note on conditional operator.

Qar@&ssliul(Herer Blyed AETIGEEE rhlsaflie G

wmened ?
x=10; ‘
f=20;

FULIEGLD Ip& 11L& em

c=(x++) + (++f);

c -
X -6

f -e0

What will be the value stored in variables of the following

x=10;
£=20;

snippet ?

c=(x++) + (++H);

cis

Yk - R B I LAY K

f is

it sapblen @ramh GUlg QUBIGEDET 6T(PSIS-
Write two forms of ‘if’ statement.

QoI rest DIETL(HES

What are the

(EHE&&TaT auflpenpaeT WTenal ?

rules for actual parameters ?
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92.  srsetlen ol LHH GOLUY s

Write a note on array of strings.

93. @@Hﬂ'mwm Sielld  omlyseErsE — Hoaeshd  ereery
Qossuubépg ?

How is memory representation done for elements in 2-D array ?

94. 576y WEDLIL| GTETMTE GTeue ?

What is data hiding ?

95. Ct++ -é QuUrmeTsaT eréleumy 2 HeumrssILBEnS ?

How to create objects in C++ ?

96. Qeun@EHL LBGIL erampra ereme ?

What is operator overloading ?

97. &8 erempmed eremen ?

What is constructor ?

98. wrufngder QuTps pbélsdr, <IA9E6T ereueumy GuSsSILHD ?

During inheritance how are constructors, destructors executed ?

99. M - DMV GTEIMTG) GTETE ?

What is e-Learning ?

100. pen@endl eremmmed Grement ?

What are ethics ?

[ SmLis/Turn over
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u@S - I/ PART - III
stemeuGWENID 65 eNaTESEHES L B efen_waf&EaLD.

Answer any seven questions :

LT poolan eyl UGS e emyure Quiigpufen e 2@y
GTEUGUM) 2 GTEHET(@HEUMUI ?

How will you indent the text using paragraph dialog box in StarOffice Writer ?

LésRIseReT @G maT Qaran® eréieumy rHpemL ?

How can the ruler be used to change the margin ?

<L auenanrd QFwelmdd efleparuild BEmepLOGET WTenal ?

What are the advantages of electronic spreadsheet ?

GoLmir sredld o drer Limeuemawurar Quisaer updl edeul.

Explain different types of operators in StarOffice Calc.

SroSTaSMSE MGLITEHMS Ll eSleurl.

Explain the manipulation of database.

mewpa| Gerduy L&Sear THEFISST_(HLem eflouf.
Explain entry-check loop with an example.

AL @b Si@Psse (papamu ThgIEsTGLen efauf.

Explain call by value with an example.

oryfinsder cumassmen eilal.

Explain types of inheritance.
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109. Qar@sstiuL Qeuafu§E) QumeughE Spssar Ct+ Blrald &rapb
Qevpseens Hmss orpsis.
Debug the following C++ program to get the following output :
Constructor
Numbersare:3 4
Sum is:7
Destructor

Sinclude<iostream.h>
classes samples
{
intm,n;
PUBLIC:
samples(x,y)
{
cout>>"\nConstructor”;
m=x;
n=y;
} ,
VOID display()
{
cout<<"\nNumbers are:"<<m<<'\t'<<n;
cout<<"\nSum is:"<<m*n;
}
void ~samples()
{
cout<<"\nDestructor";
' }
}
void main(]
{
sampleobj(3,4);
obj:display();
}

[ $lmLiys/ Turn over
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110. Gemeuqpd C++ Hlyadles Qeuafluiigenar er(pgs.
Find the output for the following C++ program :

#include<iostream.h>
#include<string.h>
#include<conio.h>
class text
{ |
char c[10];
public:
text()
{
c[0]="\0';
Y
text(char *x)
{
strepy(c,x);
}
char *operator+(text t1)
{ .
char *trial;
strcpy(trial,c);
strcat(trial, t1.c);
return trial;
}
kb
void main()
{ |
clrscr();
text al("Fire"),a2("Fox\0");
char *concat; ’
concat=alta2;
cout<<"\nThe length of Concatenated string "<<strlen(concat);
cout<<"\nConcatenated string "<<concat:
getch();

-00o0-



